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Class:

Vocabulary -

Physical Appearance

A) Join the words with opposite meanings.

1 beautiful tall

2 fat thin

3 handsome ugly
4 old ugly

5 short young

B) Complete the sentences with
words from A.

1He'san__old man.He's 92.
2 He eats too much. That's why he's

3 She's only ten years old. She's too to
buy cigarettes.

4 She's very .She's1m 84.
5 She's very . All the men love her.

6 She wants to be a model, but at 1m 50 she's
too

7 All my friends have his picture on their walls -
they think he's so

8 I don't understand why they like him - | think
he's
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C) Complete the words.

1Lucy'sgot__long_ hair.

2 Nasser's got _s t hair.

3 David's got _¢ y_ hair.

4 Lucy'sgot_s t hair.
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Name: Teacher: o

Class: Score:

Vocabulary -

ANSWER

Physical A
ysical Appearance CEY

A) Join the words with opposite meanings. C) Complete the words

1 beautiful tall

2 fat thin 1lucy'sgot_long__ hair.
3 handsome ugly

4 old ugly

5 short young

B) Complete the sentences with

2 Nasser's got _short hair.
words from A. g0T _ShorL hal

1He'san__old man.He's 92.
2 He eats too much. That's why he's fat .

3 She's only ten years old. She's too young to
buy cigarettes.

4 She's very tall .She's1m 84. 3 David's got _curly hair.

5 She's very _ beautiful . Allthe men love her.

6 She wants to be a model, but at 1m 50 she's
too _short .

7 All my friends have his picture on their walls -
they think he's so _handsome

4 Lucy's got _straight hair.

8 I don't understand why they like him - | think
he's __ugly .
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